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Abstract/Summary:

This is a check of a “NuMI shield block” supporting the load of two steel “T
Blocks” in the Target Hall area as shown on drawing ME-433027. The concrete
shield block is analyzed for shear, flexural strength, bearing, and deflection.

The deflections computed are for immediate and 5 year deflections due to the
self-weight of the block and immediate and 1 year deflections due to the
supported load of the “T Blocks”.

Applicable Codes:

ACI Building Code Requirements for Reinforced Concrete (ACI 318-89)
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DISPLACEMENT AN

STEP=1 MAY 11 Z004
SUB =1 10:33:26
TIME=1

DMX =.128132

F

PRES

£6.75

56.75 Ibfin

||!||||||||||IH|||||I|I||||IHIIII||I|||||||I|l|||II|H||

5.625"
\F=22,1?2 Ibf /
~ 92 " \l v/
= 205.25" N

Dmax=0.128" E=4.03e6 psi |=10,888 in"4
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